NAN HUA PRIMARY SCHOOL
SEMESTRAL EXAMINATION 1 - 2016
PRIMARY 6

MATHEMATICS
Paper 1
Section A: 15 Muitiple Choice Questions { 20 marks )
Section B: 18 Short Answer Questions (20 marks )
Total Time for Paper 1: 50 minutes

INSTRUCTION TO CANDIDATES

1. Wﬂhmrnmmdlnmmmbulnﬂwmpwﬂdod.

2. Do not turn over the page until you are told to do so.

3. Foliow all instructions carefully.

4. Answer all questions.

5. ShadoyowmmlnmeOpﬁcalmworSheet(OAS)mvided
for Questions 1-15.

6. You are not allowed to use calculator for Paper 1.

Marks Obtained

Paper 1 Booklet A
140
Booklet B
Paper 2 /160
Total 1100
Name : (
Class: 8

Date :10 May 2016 Parent’s Signature :




Section A (20marks)

Questions 1 to 10 cany 1 mark each.

Questions 11 to 15 carry 2 marks each.

For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the oval (1, 2, 3 or 4) on the Optical
Answer Sheet.

1. Simplify 12x + 13]+ 3x}- 7.

(1) 15x-20
2) 15x+20
(3) 15x-86
(4) 15x+8

2 Round off 728 598 to the nearest thousand.

(1) 727000
(2) 728000
(3) 720000
(4) 730000

3. Given that 16 x 208 = 3 328, find 16 x 0.208

(1) 3328
@) 3328
(3) 33238

4) 33280



The clock below shows the time now.

How long will It take for the clock to show 2.05 p.m.?

(1) 25min
(2) 27 min
(3) 30min
4) 33 min
5 1
Find the value of r + 2
(1) 8
2 2
(3) 10

4 12
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What fraction of the entire figure below is unshaded?

—

mn =

{2) —

@ =

@ 3

Thmmwmmaneggslntham.mlswasw%dmoeggsin
the carton.
What was the total number of eggs in the carton?

M 12
@ 38
@) 60
4) o4



10.  The bar graph below shows the favourite movies of a group of children.
The data for ‘Gongfu Panda 3’ is not shown below.
Name of Movies

8

&

Number of
Children

8

AN NN NER NN AEN N RN NN NNE|

-
h

-
o

(4.}

o

i %amwmammmqmﬁaom’. ‘Frozen' and “The Good
Dinosaur’, how many children like ‘Gongfu Panda 3'?

(M 26
@ 78
(3) 104

4) 182



1.

12,

13.

mmmmmnmms&wm:mgmum
mﬂoofAlvh'soavkmbﬂmodom’sm?

(1)
%)
3)
4

8:5
5:8
2:1

142

Study the following pattern. What is the 57* shape?

1st

L)
2)
3
@

D ADO0 0 ADODDA

13th

L7
A\
O

Hour,miahaandoggsarembwdlnﬂ\emﬂoofezs:ﬂomhecupmka&
Every 100 of the mixture can make 12 cupcakes. Mrs Loo used 480g of flour
in her mixture, how many cupcakes did she make?

)
)
(&)
“@

888 8



14.

15'

Both Hansel and Gretel are given the same amount of pocket money every
month. Emmﬁ.&ﬂdm%dherppdnﬂnmvﬂeﬁmlm

%olwhat@mhlsam.%atﬁacﬂon of their total pocket money did they
spend every month?

y)

@

3

&~

@

3|

Machine A and Machine B could together produce 150 similar loaves of bread
in 6 minutes. Every minute, Machine A produced 15 more loaves of bread
than Machine B. How long would it take Machine A to produce 400 loaves of
bread by itself?

1 16
@ 2
(3 62
4 80



Section B (20 marks)

Questions 16 to 25 carry 1 mark each. Write your answers in the spaces provided.
For questions which require units, give your answers in the units stated. [10 marks)

18.

17.

18.

14 Identical cakes are to be shared equally by a group of children. Each

child receives % of a cake. Huwmnydmdranmunmhmegmup?

Aﬁiswyoamold.l-leisﬂveyeamoldermanJum.
What Is their total age in terms of w?

Ans : years

Figure WXYZ is a parallelogram (not drawn to scale), Find £n.
w

105

-Subtotal

13




18. A motorist can travel 42 km in 30 minutes. Find his speed.

Ans : km/h.

20. The solid below is formed by gluing together some Identical unit eubes.
What is the least possible number of unit cubes needed te make the solid
into a bigger cube?

Ans cubes

21. Kenhad %tofommjm. Hodrank-;-ofit.Howmuchormgom

had he left?
(Leave your answer as a fraction in its simplest form)

Do not write
in this space

/3




22, MlsaNebonbouglnabagatswo The usual price of the bag was $250.
Find the percentage discount given to her.

Ans: %

in this space

.i_,'.

23.  Tom and Dick shared some cards. If the number of Tom’s cards is %"of

the total number of their cards, what is the ratio of the number of
Dick’s cards to the number of Tom'’s cards?

Ans

24.  Mrs Twinkle drove from Town PtoToanandbacktoTomPln1;h

She travelled at a speed of 90 km/h. What was the distance between Town P
and Town Q7

Ans: km

25.  Fann queued just in front of Zoe to take part in the “Singapore Idol 20186”

Contest. The sum of their queue numbers Is 4691. What Is Fann's queuel
number?

10 Subtotal

14




Questions 28 to 30 carry 2 marks each. Show your working clearly in the space
provided for each question and write your answers in the spaces provided. For each

questions which require units, give your answers in the units stated. {10 marks]
26. gmmmzmmm. Do not write
shirts and 1 jacket cost $174.
What is the cost of 1 shirt? e o
Ans :$

27. mmﬁmmmm,mmmmmmmaamw

sides 7 cm. meepemofﬁndmdodpmuhkeumz?—z)




28.  Afitness club has a membership of 84 people. The number of female to Do not write
mabmombemmks.meammloinedmoﬁmeudub.
the ratio of female to male members became 2 : 3. in this space
How many of the new members were males?

Ans:
28. In the figure below, not drawn to scale, ABCE and CDEF are thombuses.
Find ZAEF.
A E
118°
F
Vo

B e

12
Subtotal

14




30.

The figure below is made up of 5 identical semicircles overiapping a square.

Find the total area of the shaded parts.
(Leave your answer in terms of x)

12cm

END OF PAPER 1

Ans:.

In this space

Subtotal

12




NAN HUA PRIMARY SCHOOL
SEMESTRAL EXAMINATION 1 - 2016
PRIMARY 8

MATHEMATICS

Paper 2
Total Time for Paper 2: 1 hour 40 minutes
5 " Short Answer Questions (10 marks)
13 Structured / Long Answer Questions (50 marks)

INSTRUCTION TO CANDIDATES

1. Write your name and index number in the space provided.
2. Do not tum over the page until you are told to do so.

3. Follow all instructions carefully

4. Answer all questions and show your workings clearly.

5. You are allowed to use a calculator.

Marks Obtained

Total /160

Name : (
Class : 6 __
Date :10May 2016 Parent’s Signature :




2

Questions 1 to 5 carry 2 marks each. Show your workings clearly in the space below it
and write your answer in the space provided. Give your answers in the units stated.

1. Thefigure below is made up of 2 circles with centre . e
Find the area of the shaded part. Use the calculator value of x and
give your answer correct to 2 decimal places.

Ans: cm?

2. The figures below ara made of black and white squares.

Figure [ Figure No. of white | Total number
Number squares of squares
s = =
2 l 4 5
3 6 7
[T

(a) How many white squares are there in Figure n?
(b) What is the total number of squares in Figure n?

Ans: (a) [1m]
®)__ [1m]

Subtotal /4




The beaker below shows the amount of water John had at first. He
poured all the water from the beaker into an empty container to fill the
container to the brim. o '
Whatisﬂnbmamaofﬂzecuntahargivenmtbhom}smcm?

10cm

4

Beaker Container

Ans: cm?

The figure below, not drawn to scale, shows a square ABCD.
Find the total area of the shaded parts.

o

7cm
gcm

D

Do not write
In this apace

Subtotal 14




5.

The ratio of Min Lee's stickers to Jane’s stickers was 7 : 4 at first. If
mmmg-'ummme.mmmmmd

Min Lee's stickers to Jane's stickers in the end?

Wa

12




Jlu :

Der 1o include its wherever possible.

Riley made ':’ as many paper aeroplanes as paper balls. After his
brother gave him another 45 paper aeroplanes and mpglls
A e

the number of paper aeroplanes to paper balls, What was
metotalnumborofpaperaomplammdpapuballsatﬂnt?

Ans: i3]

Thraeboya,Ahx,BenandChaﬂioshamdﬂwcoswfatoy.Themﬁoof
Alex's share to the total of Ben’s and Charfie’s share was 1 :3. The
of Ben's share to the total of Alex’s and Chariie’s sharewas 1: 5.
Charrnpaidmmomﬂlanaen.wgnoouofmemy.

B DI ' 3 DEIDW [t
ATite yot th i Thonumberofmﬂmavaﬂablah
shownhbmkees[ ]attlnwdofeadaqmeion or part-question.

Do not write
in this gpace

Subtotal /8




A rope was used to wind around 2 identical cylinders. The

mmmm%ahzmmﬁmwwm.

Each cylinder has a diameter of 14 cm.
Find the area of the shaded part. (Take x = 3.14)

cylinder

,,////./f'{:.-

Top-view

Do not write
in t-his space




—

7

9. Inabasket, g of the fruits are apples and the rest are oranges.

oftheapplesmmdapphswhlemmstmmappbs.

If there are 130 green apples, how many oranges are thers in the
basket [

Do not writa
In this space




10,

Al 7 am., a car started travelling from Town A towards Town B at an
average speed of 84 km/h. At 10 a.m., a van started fravelling from
Town A towards Town B at an average speed of 90 km/. By then, the

carhadahaadyouvwod% of the entire journey. At what time did the
van reach Town B? (Leave your answer in 12-hour clock.)

Ans: [3]

Do not wiits
in this space




11. Thoﬂgwesrmstmldelﬁmlquma'ddesandasmrclaha
rectangle.

mammmdmmm.ﬂmﬁ%—;

T

63 cm

®

Do not write
in this space




12.

lnrmammdﬁnmdmmwmmof

female workers is 3 : 2. In Factory B, the ratio of the male workers

is to the number of the female workers is 1 : 2. Factory B hastmaoﬂmesr

as many workers as Factory A. If there are 1035 workers in Factory

gwwmmmmmmFmBmmatln
actory A?

Ans: 14}

Do not write
In this space




13.

Balohadﬁbeoﬁnhharoolacﬂm%mﬁanchm%hw

were from Malaysia.

(a) How many coins from China must her father give her to increase the
number of coins from China in her collection to 40%7-

{b)F‘mdlhopomnhgohmhﬂnnmnbuofmﬁnﬁunChhs.
(mmmrmbzmpboea.)

Ans: (a) [2m]
®) [2m)

10-

Do not wike
in this space




14.

Tank A is filled with water to its brim while Tank B is empty. Water is then
poured from Tank A to Tank B such that the volume of water In Tank A is
twice as much asthevolumofm_in'l’anka.

(a) What is the volume of water left in Tank A7 Give your answer in litres.

(b) Find the height of the water in Tank B.

50 cm
40 cm
60 cm
TankB
Ans :(a) [2m]

(b) [2m]

1

Do not write
In this space




15.

Car X and Cm-YlaﬂBrUvbnTma!mesmm\o.hamﬁm in the
opposite direction. Car X headed for Carefree Town while Car Y headed | Do notwrite

in this space
for Arise Town.
The speed of Car Y was 24 kmv/h faster than Car X. After 30 mins, Car X

!mdcon‘pbbd-:- of its joumey while Car Y had completed %ofi!s

jourmey. The two cars were then 82 km apart.
a) Calculate the speed of Car X,
b) How far was Car Y from Arise Town when Car X reached its

destination?

Ans :(a) f2m],
{b) [3m)

12



18. Aboxoonulmdrad blue and green pens inthe ratio 3:2:1 —
respectively. = dﬂnmdpmmlakmmwmphmmho in this space

samnmiberolnowgtunpem
1hon180bhnspensmtalmnwtandmphoedbyﬂmaammberoﬂ
nNew green pens.

in the end, the ratio of the number of red pens to blue pens to green
pensbecame 1:2:85.

(a) How many red pens were there at first?

(b) What fraction of the total pens was green pens in the end?
{Leave your answer in the simplest form)

Ans :(a) 3043

) [2m]

13



17.

Tmm%hmammmd%dﬂnmam

%amdmmbso.wrmmmaemm«mw.m

mm%.wnmmmrmmmbgm7
(Leave your answer in the simplest form)

Do not write
in this space

14



18.

The figure below is made up of 3 overiapping rectangles A, B and C.
The ratio of area A to thatof Bto thatof Cis 1: 2 : 5.

_;. of B is shaded and 2 of C is shaded.

3
(a) What fraction of the figure is shaded?
(Leave your answer in the simplest form)

(b) If the total area of the unshaded parts is 266 cm?, what Is area of
the figure?

A

Ans :(a) {3m]

(b) [2m]

End of Paper 2
Remember to check your work.

15

Do not write
In this space




SCHOOL : NAN HUA PRIMARY SCHOOL

LEVEL 2 PRIMARY 6
SUBJECT : MATH
TERM : SA1
CONTACT :

PAPER 1 BOOKLET A

Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10
4 3 1 2 3 2 3 4 4 1

Q11 Q12 Q13 Q14 Q15

PAPER 1 BOOKLET B

Q18) 14+2-49
7
Ans: 49
Q17) Ali=>w
June >w-5
Total=2w -5
Ans: 2w -5
Q18) 180° - 105° — 37° = 38°
Ans: 38°
Q19) 42x2=84
Ans 84 km/h
Q20) 3x3x3=27
27 -10=17
Ans: 17 cubes
021) 1_1-_-_8_
9 9
8 7 7
_x._:_
9 8 9
Ans:zﬁ
9
Pg 1l
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Q22)

$250 — $160 = $90
20 100% = 36%
250

Ans: 36%

Q23)

Tom - 5 units
Dick = 1 unit
Hence, 1:5

Ans: 1:5

Q24)

P>a->P=11n=2p
303

i-‘.—-2= ..%h
3 3

Distance = 90 x % =60 km

Ans: 60 km

Q25)

4691 — 1 = 4690
4690 + 2 = 2345

Ans: 2345

Q26)

48 +2J > $174 x 2 = $348
1S > $408 — $348 = $60

Ans: $60

Q27)

l><2—?2x'2'<:m=11cm

Perimeter > 11cm+7cm+7cm+7 cm=32cm

Ans: 32 cm

Q28)

7 units > 84

1 unit > 12

3 units = 36 (then male members)
84 + 66 = 150

5 units > 150

1 unit > 30

3 units 2 90 (now male members)
New male members > 90 — 36 = 54

Ans: 54

Q29)

AEC - 180° - 118° = 62°
FEC - (180° - 102°) + 2 = 39°
AEF - 62° — 39° = 23°

Ans: 23°

Q30)

Area of square 2> 12 cm x 12 cm = 144 cm?

Area of semi-circle 2> % XTX6x6=18m

Total area (144 + 181) cm? (144 + 181) cm?

Ans: (144 + 181) cm?

PAPER 2

Q1)

Area of big circle > ™ x 10 cm x 10 cm = 1001 cm?

Pg 2




Area of small circle > 1 x 6 cm x 6 cm = 361 cm?
Difference - 1001 cm?— 361 cm? = 641 cm?
Quarter of big circle = 1001 cm?+ 4 = 251 cm?
Quarter of small circle > 361 cm?2+ 4 = 911 cm?
Difference > 257 cm?— 91 cm? = 161 cm?
641 cm?— 161 cm? = 48 cm?~ 150.80 cm?
Ans: 150.80 cm?

Q2) (a)2n
(b) 2n + 1
Ans: (a) 2n
(b) 2n + 1
Q3) Beaker = 1600 ml = 1600 cm?
Base area - 1600 + 10 = 160 cm?
Ans: 160 cm?
Q4) 6+7+9=22
Area of half a square - (22 x 22) + 2 = 242
. Ans : 242 cm?
Q5) Before After
M:J M:J
124 14 :19
X3 C21 12
%x 21 =7 units given to Jane
Ans: 14:19
Q6) Before After
A:B A:B
205 7:18
2410
Difference (Before) - 5 units — 2 units = 3 units) <2
Difference (After) = 13 units — 7 units = 6 units
6 units > 45 + 45 = 90
1 unit > 15
Total (Before): 14 units > 210
Ans: 210
Q7) A:(B+C):Total B:(A+C): Total
1: 324 1:6:6
%8 (3:9:12 "2(2:10:12
A = 3 units
B = 2 units
C = 7 units
7 units — 2 units = 5 units
5 units = $50
1 unit = $10
12 units = $120
: Ans: $120
Q8)  Area of square > 14 cm x 14 cm = 196 cm?
Area of circle = 3.14 x 7 cm x 7 cm = 153.86 cm?
Difference > 196 cm?— 153.86 cm?2= 42.14 cm?
Area of shaded part > 42.14 cm?+ 2 = 21.07 cm?
Ans: 21.07 cm?
Pg 3

www.testpaper.biz



Q9) A:O
5 5:4
*° N15:12

Red Apples > % x156=5

Green Apples >15-5=10
10 units > 130
1 unit > 13
12 units > 156 (Oranges)
Ans: 156 oranges

Q10) 7a.m.to10a.m. > 3h

Distance Car covered - 64 km/h x 3h = 192 km

2 units 2> 192

1 unit > 96

5 units = 480 (Distance from Town A to Town B)

Time taken for Van > 480 km + 90 km/h = S%h = 5h 20min

Reaching time for Van - 3.20 p.m.

Ans: 3.20 p.m.

@) Perimeter of a quarter circle > % X %% x 63 cm =99 cm

99 cm x 3 =297 cm

Total Perimeter = 297 + 63 = 360 cm

Ans: 360 cm

Q12) 3 units > 1035

1 unit > 345 .

2 units - 690 (Females in Factory B)

Factory A - 5 units

5 units &> 345

1 unit > 69

2 units = 138 (Females in Factory A)

Difference - 690 — 138 = 552

Ans: 552 females

Q13)

(a) % x 450 = 90 (China coins)
450 — 90 = 360 (Malaysia Coins)

China | Increase | Malaysia | Total | Percentage | Check
Coins | in number | Coins (%) Box
of China
coins
90 10 360 460 21.73 No
90 150 360 600 40 Yes
150

(b) == x 100 = 166.67%
90

Ans: (a) 150
(b) 166.67%

Pg 4




Q14) (a) Volume A - 50 cm x 40 cm x 72 cm = 144,000 cm?®
3 units = 144,000 cm?
1 unit > 48,000 cm?
2 units > 96,000 cm?® = 96/
(b) Height -> 48,000 + (60 x 40) = 20 cm
Ans: (a) 96/
(b) 20 cm

EL (a) 24 km/h x %h=12 km
92 km — 12 km = 80 km
80 km =2 =40 km

40 km = %h=80kmlh

(b) Speed of Car Y - 80 km/h + 24 km/h = 104 km/h
Total distance covered by Car Y = 104 km/h x 1 h = 104 km
Distance covered by Car Y - 104 km/h x 45 min = 78 km
Difference = 104 km — 78 km = 26 km
Ans: (a) 80 km/h
(b) 26 km

Q16) (a) Before
R:B:G
s WA
12:8:4

% X 12 units = 9 units (red pens taken out)

After
R:B:G
3:8:13

X 4

In the End
R:B:G

3(1:2:5
**N\N3:6:15

Difference - 8 units — 6 units = 2 units (Blue pens)
2 units > 180
1 unit > 90
12 units - 1080 (Red pens)
b 15 .5
3+6+15 8
Ans: (a) 1080 red pens

5
() s

Q17) (a)ﬁ + 2 o3
2 3

3N;2D =30

3N +2D =180

Pg 5



N _1
D-36 3
3N=D-36
D-36+2D =180
3D -36 =180
3D =216
D=72

N
2-3

o))
L | =

(b)

~J

L=

=

]

o
Ngwl—-

1

Therefore, the fraction is 2.1
72 6

Ans: (a) D=72
l X
(b) y-

Q18) (a)A:B:C
<3 1:2:5
3:6:15
% x 6 = 1 unit (Rectangle B)

% x 15 = 10 units (Rectangle C)

Total parts - 2 units (Rectangle A) + 15 units (Rectangle C) = 17 units
Total shaded parts - 5 units ( Rectangle B) + 5 units (Rectangle C)
- 10 units
Hence, L
17
(b) 7 units > 266 cm?
1 unit > 38 cm?
17 units = 646 cm?
10
Ans: (a) —
(a) T

(b) 646 cm?’

www.testpaper.biz
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